>
A & 0l & AF 2 E A A
20208 &= =0l &t LB A el ME XA
SN FUMEXED
HE: HASS MO X
Chelr RO MBS CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
QI M 2T 2 0t 13,383,751 11,677,651 1,706,100
= 6,881,123
s 315,200
= 1,152,255
Al 5,035,173
MASE 42y X 8,388,840 7,297,312 1,091,528
= 6,301,892
s 152,000
< 702,359
Al 1,232,589
R R o, 6,647,473 5,651,544 995,929
= 5,104,815
< 637,379
Al 905,279
IIzdaEdayods 29 3,480 3,480 0
201 Let24d] 1,680 1,680 0
01 At 22l 1,680 1,680 0
OINEMBERAAS BA2g
70,000& * 4% 63 1,680
202 044l 1,800 1,800 0
01 SLHOIYI 1,800 1,800 0
OJI=Ma2d FMFX 1,800
HAS A 6,171,233 5,384,682 786,551
= 4,936,987
< 617,123
Al 617,123
301 LEd = 6,171,233 5,384,682 786,551
= 4,936,987
< 617,123
Al 617,123
01 MI2ZE 6= 6,171,233 5,384,682 786,551
OMAZ0I(1,1008) 6,171,233
= 4,936,987
< 617,123
Al 617,123
mE=I= 16,245 22,770 N6,525
308 XXM SO0l A 16,245 22,770 N6,525
08 WEII20HStE X 16,245 22,770 A6,525
OuUE=0(357Y) 16,245
HAZEH SN 45,935 59,358 A 13,423
= 36,748
< 2,756
Al 6,431
301 LA F 45,935 59,358 A 13,423
= 36,748




2N
X ZH -
L= B

el

Off &t 24

=

i
2m

2,756
6,431

01 Al 2&8H =062
Ol &t EH 20 (756%)

= N W

45,935

45,935
36,748
2,756
6,431

59,358

N 13,423

pall

192,000

150,000

42,000

192,000

150,000

42,000

Oxael MASE mUALESE N

16,000,000& = 128

192,000

192,000

150,000

42,000

H

43,580
43,580

31,254

12,326

H

43,580
43,580

31,254

12,326

2
OZFL=2cldl &oidl X2

H

43,580

43,580
43,580

31,254

12,326

k>
Jn

Z 0IMEX 0tA3 ES MY

Z W

175,000
87,500
17,500
70,000

175,000

= W

175,000
87,500
17,500
70,000

175,000

OMASE OIMYX OtAT ESAHY

= H W

175,000

175,000
87,500
17,500
70,000

175,000

=MW

1,741,367
1,197,077
162,000
64,980
327,310

1,645,768

95,599

12
-
o
=
o
0
02
0
e

H

Al

261,967

183,377
78,590

302,507

N 40,540

307 21201 A

H

Al

261,967

183,377
78,590

302,507

N40,540

10 AR SAAEHE2SEHIEXR

OXgXtgde 29

H

261,967
261,967
183,377

302,507

N 40,540




SN FOIMEXE D
HE: HASS MEOUF N
Selr HAS NEX (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| Al 78,590
JtArz2te &2 X & 190,000 186,250 3,750
s 152,000
Al 38,000
307 gl2tol & 190,000 186,250 3,750
s 152,000
Al 38,000
05 RIZIRI & 3 190,000 186,250 3,750
OJtArztY 22& 20| A XM ALY 190,000
s 152,000
Al 38,000
g2z X 1,004,000 943,148 60,852
= 803,200
< 60,240
Al 140,560
307 glz2tol & 1,004,000 943,148 60,852
= 803,200
< 60,240
Al 140,560
11T MISRASEX 1,004,000 943,148 60,852
OXEZ2ZArY 1,004,000
= 803,200
< 60,240
Al 140,560
SAISSET AEXE 54,400 17,266 37,134
= 27,200
Al 27,200
301 LA F 54,400 17,266 37,134
= 27,200
Al 27,200
01 MI28E+06l= 54,400 17,266 37,134
ogINs=E1 XA 54,400
= 27,200
Al 27,200
WeolssdE MEXE 8,000 16,621 A 8,621
2 6.400
Al 1,600
301 LEAZ 8,000 16,621 A 8,621
= 6,400
Al 1,600
01 MEI2EZE 405z 8,000 16,621 A8,621
ougrlsss N 8,000
= 6,400
Al 1,600
YIS SE2 AMEXE 71,000 73,751 A2,751
= 56,800




SN FUMBXAD
B YASS MEOE N
el HAS NEXW (S &2)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
Al 14,200
301 LEtEH S 71,000 73,751 A2,751
= 56,800
Al 14,200
01 MEIBEZE 05z 71,000 73,751 A2,751
OgdrIssE2 N 71,000
= 56,800
Al 14,200
FE WIS SH MEXE 47,000 27,012 19,988
= 37,600
Al 9,400
301 LA F 47,000 27,012 19,988
= 37,600
Al 9,400
01 MEIBE X263 47,000 27,012 19,988
ozdEsgIIssE NE 47,000
= 37,600
Al 9,400
TEze 2 79,000 79,213 ~213
=2 63,200
= 4,740
Al 11,060
301 LEd = 79,000 79,213 A213
= 63,200
< 4,740
Al 11,060
01 MI2EZE 06z 79,000 79,213 A213
oxgzela 79,000
= 63,200
= 4,740
Al 11,060
FEM=AE X 21,000 0 21,000
- 16,800
Al 4,200
301 LEEAS 21,000 0 21,000
= 16,800
Al 4,200
01 A2 2&H =063 21,000 0 21,000
OFYUMEAHZ XA 21,000
= 16,800
Al 4,200
AEAY A2 2R 5,000 0 5,000
= 2,500
Al 2,500
307 glztol & 5,000 0 5,000
= 2,500




2N F0IMET| A Dt
HE: HASS MEOE XL
S9l: HAS NEX (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Al 2,500
10 AR SEXAIEEE2IHIEX 5,000 0 5,000
OXEAY AAD 2 29X 5,000
= 2,500
Al 2,500
FOMETAMEA BEHAH 2S5 1,076,945 1,055,554 21,391
= 401,489
Fay 163,200
= 52,467
Al 459,789
FHAENS BS 26,976 35,976 A9,000
& 4,000
Al 22,976
HeA X S 10,260 10,260 0
201 LEt29Y| 2,500 2,500 0
01 AFR2t2l bl 2,500 2,500 0
O2dD A2 2210 2,500
301 et ™M= 7,760 7,760 0
01 MIEEE 262 7,760 7,760 0
OdAXNTS SAH| 7,000& * 154! x 12& 1,260
Od#HAL HeEA | 20,000& ~ 598 « 12& 1,200
OdHAXNTS =ttt| 50,000& * 5% * 4& 1,000
Odled X735 LSl 50,0008 * 14 * 62 300
O A2 X+ ZHHIHI 750,000& * 29 1,500
OAZ X O &b 750,000& * 29 1,500
OAL X+ otXI & 50,000& + 27 = 10 1,000
SSH = 4,000 4,000 0
201 LEr2 Y| 4,000 4,000 0
03 & AtE H 4,000 4,000 0
OREM S 4,000
Mot—5s 22l 4,716 4,716 0
201 YEr2 Y| 420 420 0
02 3524l 420 420 0
OMols =522 UHAY SAlH|
35,000& * 12& 420
202 (4] 1,296 1,296 0
01 2L Y] 1,296 1,296 0
OMil=2s ER=&X
81,000& » 2% x 22 x 43| 1,296
307 212t01 & 3,000 3,000 0
01 2L 2= 4| 3,000 3,000 0




2N
X ZH -
L= B

el

FANH A BEMA 2=

- _ _ RE]
CE . HY(BH) - HBAY - BES %Eﬁ HR=2
O=2Maoll maooty 2= A H K&
300,000& = 100t 3,000
22X 8,000 17,000 A9,000
= 4,000
Al 4,000
QEIE N2 8,000 17,000 A9,000
= 4,000
Al 4,000
1A EEAE G2 8,000 17,000 A9,000
Oxtate 218 K& 8,000
& 4,000
Al 4,000
NAHEA XA 2= 30,792 31,292 A 500
DIMEIT A NEI AN 2H 15,232 15,732 A 500
U2 A Y| 3,400 3,900 A 500
01 At 22l ] 3,400 3,900 A 500
OF0MEXRANEA EES HZ
200& * 2= * 1,0000H4 400
OFCIMETAANHA FHEE EERQ
10,0002 * 30074 3,000
202 04 d| 5,832 5,832 0
1 2| 5,832 5,832 0
FZOMBNAMEA AREX
81,000& * 29 * 32 x 123 5,832
AR FEH| 5,000 5,000 0
Al =X 2 = X H| 5,000 5,000 0
ONASE MEBOHEH 5,000
QutE N =2 1,000 1,000 0
SHAFAIHI X2 1,000 1,000 0
OMetZ2 2 2 DLIEHS O] 1,000
H=3 2 2422 3,560 3,560 0]
LB AH| 3,560 3,560 0
01 AP 2t2ldl 1,560 1,560 0
OROIALIAAY 9etasr
130,000 = 12& 1,560
S=2294| 2,000 2,000 0
OAEE RXz2e 2,000
EHEHAl EXMHE 24 12,000 12,000 0
306 EH2 12,000 12,000 0
ESe 12,000 12,000 0
OFEHEHAl EXNMS 2 12,000




A FOUMET R D
Hu: FOMBXAHIA BSHH P
SHPl: UES SHMHIA JBRE CERED
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
SFEs SEAMHIA JIEIR S 1,008,673 976,582 32,091
= 401,489
= 163,200
== 48,467
Al 395,517
MNASS Moty X3 16,084 16,084 0
201 gBt24 | 2,900 2,900 0
01 AP 2t 2| H| 2,900 2,900 0
OF0 EXAMEA 92 =& 500
O=sXAMElA S8t =222 H&
2,000 * 4008 800
O2Z2=sXAIE EZCHHE H &
100! = 6,0000H 600
O3 %Lls ZHC =8 100& = 10,0008 1,000
202 044 5,184 5,184 0
01 2L Y| 5,184 5,184 0
O%USE MHIAHH SR
81,0008 * 29 * 22 x 163 5,184
203 €2 F=&d| 8,000 8,000 0
03 Al ZHF=XH 2= XH| 8,000 8,000 0
O%UEH AUHIAHAA XA =X 8,000
A =X E23 2E XA 93,951 80,950 13,001
= 16,080
Al 77,871
307 S12t0| & 93,951 80,950 13,001
= 16,080
Al 77,871
02 QIZHE AAIE E X 5,070 5,150 A 80
OEHe A3 E X 3l XIS 5,070
10 MM SAANEEHESIGHEX 88,881 75,800 13,081
OAM3ZI=EXNEo3 29 75,000
== 15,000
Al 60,000
OAaIEXgos 2L (IA) 8,481
OAl -2 MISXINZ SANAHSRIHE =X
& 5,400
o NEAS EXEE A 1,800
& 360
Al 1,440
o AISI 22X E 2 3 3,600
= 720
Al 2,880
NEAIEHEAM 24 58,246 56, 144 2,102
o=} 7,000




2N
X ZH -
L= B
el

FoMEX D
FOMBIRANYA BSHH 2S
YEE SBHHIA JIBRE

SA-Z3H-SH2A(3AH) - A

OI

=
i

2

Al

51,246

201 fEt2E |

2,800

2,800

01 AR 2tel
A

for
02
o

oM sloFAL

70,0003 = 209 = 23]

2,800

2,800

2,800

307 21201 &

H

Al

55,446

7,000
48,446

53,344

2,102

JIXEA]

Q
re
¥

i

o

OXNGAZEHE AN 432

re
Y

i

H

Al

55,446

35,000

7,000
28,000

20,446

53,344

2,102

KNS A2l = XS A M M=

1,400

1,400

301 b

e
|'U:
HT
o
oy

1,400

1,400

09

=
[l
=

faa
o
oy

O o
0
i
]
Jy
ton
1o
o
x

p

1,400
1,400

1,400

u
il
o
-

PR

= MW

433,686
346,949
17,347
69,390

436,714

N 3,028

= Hn

433,686
346,949
17,347
69,390

436,714

A 3,028

= N H

433,686

433,686
346,949
17,347
69,390

436,714

N 3,028

KNAMBI M A EXNME X

=z HnH

01,000

160
8

,800
,040
32,

160

184,250

16,750

307 glztol &

= HnH

201
160

,000
,800
,040
32,

160

184,250

16,750

[m)

| 2

!

-

05

Er2
=

o
T =

y

OXIS ARl MHIA SEXHALY

=z o™

201
201
160

,000
,000

,800
,040
32,

160

184,250

16,750




AN FRMSTA L
Y FOMESXIAAMEA BLHH 25
& XEE SFMHA RS (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
NS AIMH A SEXALY 22 K& 3,000 3,000 0
s 2,400
Al 600
201 £B-2d| 3,000 3,000 0
s 2,400
Al 600
01 At 22/l 3,000 3,000 0
OXNSAAMSAMEIA EXNAMY S22 HE S 3,000
= 2,400
Al 600
XA =X X2 4,640 5,000 A 360
307 glz2tol & 4,640 5,000 A 360
11 AISI SAAISEE = 4,640 5,000 A 360
OXGAZIEZE2ANM XNAUa 4,640
N2 SEAd 22 X 15,000 15,000 0
= 7,500
Al 7,500
201 Let24E] 7,500 7,500 0
= 3,750
Al 3,750
01 AP 2teltl 7,500 7,500 0
OAtdlZelAE 29 7,500
= 3,750
Al 3,750
301 LEHZ 7,500 7,500 0
= 3,750
Al 3,750
01 A3l EE E 56l = 7,500 7,500 0
O=XAEA X& 7,500
= 3,750
Al 3,750
EAEXNHE A XJ AL 86,076 82,000 4,076
307 glz2+ol & 86,076 82,000 4,076
11 AISI S XA E X 86,076 82,000 4,076
OBtXI-A 4 Se=sHH 29 86,076
Fow 28 XA 9,550 10,000 A 450
307 21201 A 9,550 10,000 A 450
11T M3 SXASEEX 9,550 10,000 A 450
OFEWI ALY K& 9,550
SASTAAEY (s]Led) 2 4,640 4,640 0
201 £B-2dH| 4,640 4,640 0
01 At 22l 2,000 2,000 0
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A FOUMET R D
M. =0IMST2AAH A BEHH 2=
S9l: AR 23 EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
01 2L I 3,000 3,000 0
OS&e XA g2 2,000
OF A2 MEAEf & X XA 1,000
301 et A= 3,000 3,000 0
01 AISIE & A 452 3,000 3,000 0
Od2ae Haxt 227
20,000& = 15001+ 3,000
SAaeEs 222 1,220 1,220 0
201 et | 1,220 1,220 0
01 AFR 2t 2| H| 1,220 1,220 0
OaeA SHHIMNH 300,000 * 23| 600
o1 il Ctt+ ¢ 620
AMBI=2X Jl8F XM 48,395 293, 171 N244 776
= 9,829
Al 38,566
X GAS2X DB 2= 48,395 293, 171 AN244 776
= 9,829
Al 38,566
A EXNAE B2 10,560 10,560 0
& 2,112
Al 8,448
201 gEt24A Y| 10,560 10,560 0
& 2,112
Al 8,448
01 AP 22| d| 10,560 10,560 0
OL Al3IEXAME 23 (2209) 10,560
o 2,112
Al 8,448
CHAEIIE 89X & 36,335 55,541 N 19,206
o= 7,267
Al 29,068
301 et M= 36,335 55,541 N 19,206
o=} 7,267
Al 29,068
01 Al E& A %52 36,335 55,541 N 19,206
Olnssnxga 14,335
= 2,867
Al 11,468
otistsE= 22,000
o= 4,400
Al 17,600
S0 F0XSAH 1,500 8,070 AN6,570
=} 450
Al 1,050




2N

EOIMERAD

M NS S DB =M
e XNGASEX I8 25 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
301 et A= 1,500 8,070 N6,570
== 450
Al 1,050
01 AR E & A 462 1,500 8,070 N6,570
O=stolg=0 A= 75 XN 500
= 150
Al 350
OS80IZ=0 HAE ot X2 1,000
= 300
Al 700
2ItEE2e & X 2,342,730 1,657, 166 685,564
= 115,800
Al 2,226,930
23k 2ASA 2,342,730 1,657, 166 685,564
= 115,800
Al 2,226,930
22 X 142,620 137,566 5,054
201 et d| 4,000 4,000 0
02 222%4| 4,000 4,000 0
OFEANEE A2 ¥ &AHFHU
2,000,000 = 20 A 4,000
202 044l 972 972 0
01 2L Y| 972 972 0]
OBZg: =X 81,000& x 2% x 2 x 33| 972
301 et A= 9,200 8,000 1,200
01 AR E & A 452 9,200 8,000 1,200
O2INF2EHH /A2
100,000 = 10004 * 23] 2,000
O2IKZ2X B8 92
30,000 * 1209¥ = 23| 7,200
307 2Iz2t0| A 128,148 121,729 6,419
02 QIZFE AAIRE E X 19,730 16,649 3,081
OZ2INISZCH AILESSEX(8MA) 19,730
03 I HEHESIHIEX 108,418 105,080 3,338
O2I|2CHH 29Hl & 21AHH(8IHA) 108,418
402 SI2FXHE0| ™ 300 2,865 A 2,565
01 QI EANSEX (MM A) 300 2,865 N 2,565
OZ2II|Z2CH EIF2AdH (=g 7Y)
300,000& = 104 300
S =2 A} 13,500 13,500 0
201 et 9| 7,900 7,900 0
01 AR 2t2l ] 700 700 0]
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AN FUHEX S D
dd: FotE=2el € XA
Sl 2INRBA BB CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 LEHZ 4,000 4,000 0
09 HALAHIX RS 4,000 4,000 0
O6.25&8 A &It 23X =4 XI&
8,000& 5009 4,000
NMol==2 & I8 & A} 3,000 3,000 0
201 Let249] 3,000 3,000 0
03 &AL S HI 3,000 3,000 0
OMali=32 & A 3,000
22352 HE 1,208,710 1,022,900 185,810
401 Al HIZ 201 I 1,208,710 1,022,900 185,810
01 A& HI 1,120,000 1,000,000 120,000
O3 & M= A 1,120,000
02 2teldl 78,000 16,600 61,400
O &3l& M=EZ A Zeldl 78,000
03 AlE 2 THHI 10,710 6,300 4,410
OEg3 & A=A 20U
1,700,000,000& * 0.63% 10,710
EEANE EH 120,000 0 120,000
401 Al HI X 2018 120,000 0 120,000
01 A& Hl 120,000 0 120,000
OB&A4 ZHl 120,000
AE - M 2t 703,446 565,066 138,380
= 112,622
< 271,800
Al 319,024
AE BT e 703,446 565,066 138,380
= 112,622
< 271,800
Al 319,024
SAZEIHE ALY 30,368 30,368 0
301 LEHZ 30,368 30,368 0
12JEEd=S 30,368 30,368 0
02 U ANHLL +52 2
18,000& » 60 A « 123 12,960
OZd8 & Hijelda Xgd S5
890& * 1001 = 60JHA = 128 6,408
O2ggas EXE AX 100,000 * 25J4 & 2,500
OXMs4ds 2sggas HAES &
25,000& * 1000 & 2,500
Oog2s8a M=J ZEIte & AMZI| X
5002 * 5000 = 2& » 1200H & 6,000
Al ZotE 2tel 11,234 11,234 0




AN FRMSTA L
M AE QM 2L
&S AF - 23 A2 (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
201 Le-2d| 1,400 1,400 0
01 At 22l 1,400 1,400 0
OalZotdzte 228 MZE 3,5008 » 20004 700
O olAZAHEES A BHIHY A OHLH E X B
= 10,0002 * 700K 700
202 oddl 4,344 4,344 0
01 = LH o4 1l 4,344 4,344 0
OBZ - AESAN P25
81,000& » 298 = 22 « 63l 1,944
Ofleis cixgs 2,400
206 M= Hl 2,550 2,550 0
01 =8l 2,550 2,550 0
OnlzE 2t0121E & 7Y
,500& = 1000 * 35 2,550
301 LENF 2,940 2,940 0
12JIE243 2,940 2,940 0
OAlE+=)1 JHH 24
10,000& = 1224 = 123 1,440
ORISZASZ MONELZ 100,000 * 3A 300
OAHI A SAMZAIR &Sl
50,000& = 6H » 4« 1,200
Helolgaael XNJAdH 249 216,000 200,000 16,000
= 108,000
< 43,200
Al 64,800
307 glz2tol & 216,000 200,000 16,000
= 108,000
< 43,200
Al 64,800
05 RIZHRIE 3 216,000 200,000 16,000
Oogol sS4z XadH X3 216,000
= 108,000
< 43,200
Al 64,800
ZRE ASAEIZS 29 20,600 23,300 A2,700
< 20,600
301 LBEAZ 20,600 21,500 A 900
< 20,600
09 HALAHIXI &S 5,600 5,500 100
O AHIA ASAL2ZAE 2SH| 5,600
< 5,600
12 JIEHE4 = 15,000 16,000 21,000
Oosga QMEE X 6,000
< 6,000
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A FULSXJ B

o NS AL (FULBTAD)

e Jl=3l (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
23l 41,419 42,091 ABT72

Jl=23dHl 41,419 42,091 ABT2
201 B2 S 34,819 35,491 ABT2
01 At 22l bl 30,019 30,691 ABT2

ORME2g Jl=dtl 200,000& * 12& 2,400
OMNSRES Y (SAX S) 200,008 » 128 2,400
OHFAMRINI 228 #+¢
200,000& * 804 = 2% 3,200
O=AIN(EEI)ExE
220,000& * 20H » 12& 5,280
Od=g=+I Xz 50,900& » 12& 611
O=gtl 8,000& * 248 » 7 « 128 16,128
02 324t 4,800 4,800 0
oRER= 400,000& » 123 4,800
202 o4 2,400 2,400 0
01 SLHOYI 2,400 2,400 0
Ootlgdze 2oyl 2,400
203 Y=Yl 4,200 4,200 0
04 FAN2SERFAH| 4,200 4,200 0
OFRNE23E AL 350,000& * 12E 4,200
el 2| 190,078 177,828 12,250
= 65, 120
Al 124,958
ol 2| (SE At 22l AL) 158,049 149,681 8,368
= 65. 120
Al 92,929
101 1244l 158,049 149,681 8,368
= 65. 120
Al 92,929
03 RINAA=22RE > 158,049 149,681 8,368
OS&EAtal2tel AH4Y) 158,049
ollgag ¥ Al2esg 8§ 130,240
= 65, 120
Al 65,120
ocdAsAHI 120,000& » 4% = 128 5,760
o JtAH 2 & H| 40,0008 = 498 ~ 128 1,920
ctE+E 180,000& * 12E 2,160
ocXRsg 70,000% = 49 « 128 3,360
o HE S OtY| 500,000& * 4% = 23 4,000
ocitRramgd=g 80,6708 438 « 18¢ 5,809
cUA+E 100,000& = 4% = 12& 4,800
ol (2Y - RHAE o) 32,029 28,147 3,882




SN FUMEXED
. HH2IYGU(FUMETAD)
Sl ol ) CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
101 14 Hl 32,029 28,147 3,882
03 RIAHAZ 22+ 32,029 28,147 3,882
O=2Y - BFAZ =& 32,029
=Jl2g 1,345,470 + 1¥ » 123 16,146
oca0iz 1,345,470 1 * 400% 5,382
oMAT ALY 150,000& » 1&¥ = 12 1,800
o Z AU gAY 120,000& = 198 = 128 1,440
oA 150,000& = 1H = 123 1,800
o X R 110,000& = 1H = 123 1,320
cItEY 80,000& = 18 « 128 960
o HESIHHI 1,345,470 « 18 * 120% 1,615
cHIIRSFI=E 86,960 * 1 = 18 1,566
NRes(F=MEX ) 591,898 589,463 2,435
TEDE P 591,898 589,463 2,435
LHEHeH X = 591,898 589,463 2,435
701 JIEtSI HSEES 591,898 589,463 2,435
01 JIEteI HE &= 591,898 589,463 2,435
OAS LS SEAN dES 591,898




